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1. Answer the following questions : 1x10=10
e 2PTRd Teq i

(@) What is endogenous growth?
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(b) Mention one assumption of Solow
model.
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(c)

(d)

(e)

(g)

(h)
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(2)

“Consumption function expresses the

relationship between consumption and
investment.” s it true?

“@ﬁwmﬂwﬁﬁmmww
2P I 1 G Tz 9

Who introduceq t
hypothesis?
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he permanent income

What is inventory investment?

S9N R & o

What is monetary policy?
T4l A f 2

policy?
T80 ST g e o

“Central bank of g Country Prepares
its fiscal policy.” Is it true or false?
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2. Answer

(3)

Mention one classical assumption.
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Name one new-Keynesian economist.
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the following questions : 2%5=10

(@)

(b)

(c)

(@)
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Mention two limitations of Harrod-

Domar model.

@AY A RIES 751 AR Teerd 40 |

What 18 - meant by residential
‘mvestment?

mﬁﬁ*ﬁﬁmﬁ{%ﬁﬁsqm?

Mentionl two objectives of monetary
policy-
st A P e TeEd 1
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(4)

(e) Mention two features of
thoughts.
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new classical

3. Answer any Sfour

Questiong from the
following :

5x4=20

(c) Briefly explain

@) Explain 4,
m "
demand for mgn:;,n detErmlnants of
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(e)

4. Answer the following questions :

Distinguish between active and passive
monetary policies.
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How did Keynes differ from the

classicists? Explain.
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(a) Critic
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ally discuss the Harrod-Domar

growfh model.
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Discuss the relationship  between
gress and elements of

technological pro
endogenous growth.
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(b)

(c)

(d)
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(6)

Discuss Critically the Pe€rmanent income
hypothesis.

40|
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What are the determinants of business
fixed investment? Discuss.

41|

Critically discuss the
consumption function,

cﬁﬁn@ﬁmwww
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Keynesian

Or / gy

Discuss the

‘government budget
constraint’,




(7))

Or / 9l
Discuss the main features of classical

school of Mmacroeconomic thought.
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